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{a) (.)Lntline .the main determinanis of quantity demanded and
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- (&) From the n\l‘arke‘t demand schedule for oranges gi\'.ren.

below, calculate price elasticity of demand if price falls

. from Rs. 80 per dozen to Rs. 70 per dozen : 5

Price per do_zenr(Rs.) : Demand per dozen '
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2 (@) ~ Explain the law of demand. Are Giffen goods an éxceptioh
to this law 7 Discuss. < .. 75
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) ’ Explain concept of inc;)me elasticity of demand. Why doces

the income elasticity of derhand for food tend to be

low ? o 75
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3. (a) Explain the derivation of the demand curve with the help

“of price consumption curve. , . - 15
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Explain the concept of diminishing marginal rate of

*substitution between two goods and show how it affects

. - .
the shape of indifference curve. L 7.5
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Explain the law of variablé proportion through the

. behaviour of both total product and marginal

* product. ' ' o S
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Why is the short-run average cost curve U-shaped 7 5
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-Explain a firm’s equilibrium with the help of isoquants and

isocost line. . o T . 75
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Distinguiéﬁ between Retu_rns.to_ scale and Returns to & °

variable factor. ' 75
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What are the essential features of a petfecily competitive -

market ? Describe the process by which _tlie profits of firms in

such a market arg likely to be eliminated-in the long run. Use

diagrams. . | . ' 15
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Distinguish petwéen mon-c-)'pol)/ a-nd' difcrimin;ti_ng monopoly.
How are price and output determined under simple
monopoly ? . | B 3 - - 510
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Write short notes on any two of the followmg 7_5+75
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(@) Prisoner’s dilemma
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_(b) Consumef surplus’

IO W W=
(¢)  Shift of Fhe supply‘curve
(d) Emna]iti&
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